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import sys

sys.path.append("statlib™)

from survival import logrank_test

logrank_test(group, event, time, verbose=True)
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"chisq" BoEiiata (2 ofic Less))
"df" HHE (Fi21)
"pvalue" p fE
"result" HElE
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group = [1, 1, 2, 2, 1, 1, 2, 2, 1, 2, 2, 1, 1, 1,
2, 2,2, 1,1, 2,1, 2,1, 2, 1, 2, 2, 1, 1, 1]
event = [1, 6, 1, 1, 6, 6, 1, 6, 6, O, 1, 1, 0, O,
o, 1, o, 6, 1, 1, 6, 1, 6, 6, 1, 0, 1, 0, 0, 0]
time = [2, 20, 5, 1, 3, 17, 2, 3, 15, 14, 12, 13, 11,




11, 10, 8, 8, 3, 7, 3, 6, 2, 5, 4, 2, 3,
import sys

sys.path.append("statlib")

from survival import logrank_test

event, time)

a = logrank_test(group,

logrank test
chisq = 3.3805, d.f. = 1, p value = 0.06597

TN—TDIER, BEEIE TR TH L,

group2 = ["male", "male", "female", "female", "male", "male",
"female", "female", "male", "female", "female",
"male", "male", "female", "female", "female", "male",
"male", "female", "male", "female", "male", "female",
"male", "female", "female", "male", "male", "male"]

a = logrank_test(group2, event, time)

logrank test

chisq = 3.3805, d.f. = 1, p value = 0.06597

"male",




